BG

TEST-2

1) ﬂ%ﬁﬁa‘rﬁ'aﬁ'usxn

2)

© o N U A WN o

4 4 a4 a4 a4
© N Uk W= O

(PTG ST 1 AN T[S N - (I6N / K/ % / L& )

STRH WP I57 T AR ? (F2/ O/ /5 / 7T )

G 8 AT WA I57 T AP ? (72 /oN /57 /27)

J6N 2 O AFIHS — ( WILY / 30%7 / 58T / Sy )

AT 5T 30 =ewr 2 (S5 / 2B/ ot /86 )

Sorer 1 fNATY I 4 2 (/BN /oW /*F/ LS )

AT I5(HT B @t 2 (5B / 2B/ o6/ 8B

(PN JETN (FIETNIG ST 17 TN ? (SN / [[ROT /S0l / 762 )
(TN G (FIETNIG (FCET 27 7247 ? (AN / [{Feovs / 5w / el )

I ISTH (N R AT 2 (G / e / Ree / [94349 )

NN WA I5N Y AFE ? (H2 /o7 /PR /7T

S I67 FW AP ? (72 /o~ /57/27)

(T I5TH QYN [REA AT I[N ? (A/E/1/0)

(0 I5TNT IO =e*1 2 (36 / 25/ of5 /85 )

TG F 2 (%37 °m / = / 2561 )

THNT SIS FAGSE fF I ? (LS WA/ AFNIF / ISP / (FINCT N )
TENT (TN ¥ IHTN AT N FF 2 (B / N / [T / 56 )
I N A *TN TR - 46 5 o7 2 (S / a0 / siraw<s / Rovsss )

B IACS fF (@R ? ATV I0@ F @A ? 9N 8 AT (S Sre [N /g @WREoN T2 24+2+8
=, RS AFTISEAT S SFE NS B S 8 AT N ST | S+5x8
a) O A& FAIHS JA =W

b) (PTG FRYAR B3 v

0 (N FR2 JFACH AWM 8 FIEA =S AT N

d) SIWI I Mg

3) <IN FMF ICET ? IHIAL FAMG W1 & F fF 2 AT 8 AT I6THF T ANAFT FESTR G FI | 2+2+8
S, RIS IFTBRAE Al FIE TATSRS FE (T (B AT AT I ST - OF TN T 15+5%8

a) (T (T FOIC FATS A

b) ANt FUNIR A N

o RETgursie o=

d) GRS a2 (NSO S SHR AT FE

End



